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QUESTION 1

What are two virtualized components of a vMX? (Choose two) 

A. VFP 

B. vNIC 

C. vSwitch 

D. VCP 

Correct Answer: AD 

 

QUESTION 2

What are two core projects in OpenStack? (Choose two) 

A. Docker 

B. Mesosphere 

C. Glance 

D. Nova 

Correct Answer: CD 

 

QUESTION 3

Which two protocols are used in a Contrail system to exchange routing information? (Choose two) 

A. XMPP 

B. BGP 

C. OSPF 

D. IS-IS 

Correct Answer: AB 

 

QUESTION 4

What are two benefits of NFV? (Choose two) 

A. NFV provides methodologies to interconnect data centers 

B. NFV provides control over the deployment of all virtual machines 
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C. NFV allows for the automated control of service chains 

D. NFV makes the management of virtualized network functions dynamic 

Correct Answer: CD 

 

QUESTION 5

Which protocol does Juniper Networks recommend to provide real-time updates of the network topology to the
NorthStar Controller? 

A. RSVP 

B. OSPFv3 

C. BGP-LS 

D. RIP 

Correct Answer: C 

 

QUESTION 6

A customer wants to deploy a complicated service and needs complete control of all applications, servers, 

and server operating systems. 

Which type of service should the customer purchase in this scenario? 

A. FWaaS 

B. SaaS 

C. PaaS 

D. IaaS 

Correct Answer: D 

 

QUESTION 7

Which Juniper product will automatically add, remove, and reroute LSPs? 

A. Sky ATP 

B. NorthStar 

C. Steel-Belted Radius Carrier 

D. Cloud Analytics Engine 
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Correct Answer: B 

 

QUESTION 8

Which protocol does a Contrail node use to communicate with vRouters on compute nodes? 

A. IF-MAP 

B. XMPP 

C. BGP 

D. NETCONF 

Correct Answer: B 

 

QUESTION 9

What are two characteristics that make VXLAN preferred over other overlay protocol encapsulation methods? (Choose
two) 

A. VXLANs have a theoretical maximum of 16,000,000 VNIs 

B. VXLAN is an open standard protocol 

C. VXLAN provides easy integration into existing STP implementations 

D. VXLANs forward BUM traffic into the underlay on an as needed basis 

Correct Answer: AB 

 

QUESTION 10

What are two roles of the NorthStar? (Choose two) 

A. to push endpoint device images to customer edge devices 

B. to distribute routing updates to network devices 

C. to optimize paths through the network based on traffic statistics 

D. to calculate paths through the network based on topology information 

Correct Answer: CD 

 

QUESTION 11

A customer must provision multiple devices in their data center and would like to automate this process. What would
you use to accomplish this task? 
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A. NSSU 

B. SSO 

C. ISSU 

D. ZTP 

Correct Answer: D 

 

QUESTION 12

Which Junos platform was designed to host multiple Juniper and third-party virtualized network functions on a single
device? 

A. vMX Series 

B. vSRX Series 

C. NFX Series 

D. PTX Series 

Correct Answer: C 

 

QUESTION 13

What are two protocols NorthStar uses to provision LSPs? (Choose two) 

A. IF-MAP 

B. XMPP 

C. PCEP 

D. NETCONF 

Correct Answer: CD 

 

QUESTION 14

Which two statements are true regarding a zero trust network security model? (Choose two) A. It assumes that security
threat management cannot be centralized 

B. It assumes that security threats can originate inside the network 

C. It assumes that security threats can originate outside of the network 

D. It assumes that security devices cannot detect and prevent network threats 

Correct Answer: BC 
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QUESTION 15

A Contrail controller is used in which type of SDN? 

A. OpenFlow-based SDN 

B. SDN as an underlay 

C. SDN as an overlay 

D. API-based SDN 

Correct Answer: D 
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